
 


06.  
 

 
1. 



A. 




2. 




A. (i) 



     (ii) 



     (iii) 








 
 
 
 
3. 



A. 
     ‘u’ . 
            (f) = 20cm 

       (u) = -60cm 
     (v) = ? 

        :  ଵ
௙
 = ଵ

௩
 - ଵ

௨
   

 ଵ
௩
 = ଵ

௙
 + ଵ

௨
 = ଵ

ଶ଴
 + ଵ

ି଺଴
 = ଵ

ଶ଴
 - ଵ

଺଴
  = ଺଴ିଶ଴

ଶ଴	௑	଺଴
 = ସ଴

ଵଶ଴଴
 

 ଵ
௩
 = ଵ

ଷ଴
   v = 30cm 

    C 
F  C 

4. 
‘R’
n = 1.5.    
A. 
R1  R2  
                         R1 = R2 = R 
                  (n) = 1.5 
                   (f) = ? 

      :     ଵ
௙
  = (n-1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

       
                       R1 R2 . 

         : ଵ
௙
  = (n-1)ቀ ଵ

ோభ
+ ଵ

ோమ
ቁ 

																								ଵ
௙
  = (1.5 - 1)ቀଵ

ோ
+ ଵ

ோ
ቁ = 0.5 x ଶ

ோ
 = ଵ

ோ
  

                     f = R 
    . 
5. 

A.    : ଵ

௙
  = (nba-1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

        f  =  
     nba = ௡್

௡ೌ
 = 


      nb = 
      na =  
      R1 =  
      R2 =  
    na = 1,       
    
  nb=n 

     : 																												ଵ
௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 
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6. 


A.  



 













7. 

A. V-
V- 




  V-

‘u’ 

‘ v’  
    f = ௨௩

௨ା௩
 

 




 
 
 
 
 
 

8. 



A. : 
    (i) 
 
   (ii) 


   (iii) 


  (iv) 


  (v) 

  (vi) 



  (vii) 

9.  (A): 


    (R): 



    a) A  R 
        A R. 
    b) A  R 
        A R. 
    c) A R   
    d) A  R  
    e) A R . 
A. 




    
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



 
       Choice “b” 
10. 


A. 




11. 
A. 
 



12. 


A. 

V-
 
 
13. f1  f2 

 
      i)  
     ii) ‘d’ 
A. Case(i) f1    
      f2 .  
      ‘f’  

ଵ
௙
 = ଵ

௙భ
 + ଵ

௙మ
  ଵ

௙
 = ௙భା௙మ

௙భ௙మ
   f = ௙భ௙మ

௙భା௙మ
 

     Case(ii) f1    
      f2 . ‘d’ 
 ‘f’ 
 

ଵ
௙
 = ଵ

௙భ
 + ଵ

௙మ
 - ௗ

௙భ௙మ
 

 
 

13. f1  f2 

 
      i)  
     ii) ‘d’ 
A. Case(i) f1    
      f2 . 
 
     V-
V- 




 V-
‘u’ 
V-
‘ v’    
      
      f = ௨௩

௨ା௩
 

 



16. 
u, v, f 
u Vs v 
	૚

࢛
  Vs  ૚

࢜
  

A. 
: 

  
(u) 

 
(v) 

 
(f) 

30 120 24 
40 60 24 
50 46 24 
60 40 24 

      Case(i):  u Vs v  
               120 
           v  100 
                 80 
                 60                             
                 40 
                 20 
                  O    10   20   30  40   50   60         u 
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     Case(ii):   ૚

࢛
  Vs  ૚

࢜
   

 
(u) (v) ૚

࢛ 
૚
࢜ 

30 120 0.033 0.008 
40 60 0.025 0.017 
50 46 0.020 0.022 
60 40 0.017 0.025 

            
        0.024 
        0.020 
        0.016 
        0.012 
        0.008 
        0.004 
                 
               O    0.006  0.012   0.018  0.024  0.030  0.036 
17. AB     
      


 
A. 



       AB 
‘F’ 

.  
                                               A         B 
 
                                    F                              FI 
 
18. N1N2 


. 

N1 N2 
A. 

    Case(i) ‘F’  ‘P’ 

  
  
               
    N1                                                                                        N2 
                                     P     F        C 
 

    Case(ii) 


 
 
 
                  N1                      P    F      C     N2      
 

 
 

19. S SI  

         
                                

N1 N2 
A. 

‘F’  ‘C’        
    
‘C’   
     
 
  N1                                                                                                      N2 
               C         F                              C            
 
 
20. 
1




A. (i) 


 
 
                                            F1        C1                                                             
               C2        F2    O    40 cm                                                
     (ii) 

 
 
                                            F1     C1                                                             
                  C2     F2   O  15cm       
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     : = 40cm 
                = 15cm 
    







 
 
 
                                      25cm  15cm 
 
21. 

       i) C2  
      ii) F2 P . 
 A. Case(i): 
 C2 

C1 

                      
                                         C2     
                                        



 
     Case(ii):  F2  P     
     


 
 
 
                                                     F1     C1 
                       C2         F2    P     
  
       
 F2  P 






 
 
                                         F1   C1 
                         C2  F2  P 
 
 
22. 


A. 


     (i) 


     (ii) 

     (iii) 


 
23. 


A. R1 = R2 = R  
      (f) = R 

     : 	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

      
                      R1 R2  

              	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
+ 	 ଵ

ோమ
ቁ 

              	ଵ
ோ

  = (n -1)ቀଵ
ோ

+ 	 ଵ
ோ
ቁ  

              	ଵ
ோ

  = (n -1)ቀଶ
ோ
ቁ 

              1  = 2n – 2  2n = 3  n = ଷ
ଶ
 = 1.5 

 (n) = 1.5 
24. n=1.5 




A. 
R1  R2  

                  R2  = 2R1 

                   (f)  = 24cm 

                   (n) = 1.5 
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    : 	ଵ

௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

     
                      R1 R2  

              	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

              	ଵ
ଶସ

  = (1.5 -1)ቀ ଵ
ோభ
−	 ଵ

ଶோభ
ቁ  

              	ଵ
ଶସ

  = (0.5)ቀଶିଵ
ଶோభ

ቁ  

              2R1 = 12  R1 = 6cm 
                                      R2 = 2R1 = 12cm 
     R1=6cm,R2=12cm 

25. 



A. (d) = 24cm 

                                       (f) = 9cm 

      ‘x’ cm   
  
       
                                S1                                                    S2 
                                         x               24-x 
 
      : ଵ

௙
 = ଵ

௩
 - ଵ

௨
   


S1  S2 

S2 ‘v’ 

      : 
                (u) = -x 

            (v) = v 

            (f) = 9cm 

       :   ଵ
௙
 = ଵ

௩
 - ଵ
௨
   ଵ

ଽ
 = ଵ

௩
 + ଵ

௑
  ………….(1) 

      : 
     (u) = -(24-x) 

             (v) = -v 

             (f) = 9cm 

       :   ଵ
௙
 = ଵ

௩
 - ଵ
௨
   ଵ

ଽ
 = − ଵ

௩
 + ଵ

ଶସି௑
  .….(2) 

      (1) + (2)ଶ
ଽ
 = ଵ

௑
  + ଵ

ଶସି௑
   

                                       ଶ
ଽ
 = ଶସ

௑(ଶସି௑)
   

                                       ଵ
ଽ
 = ଵଶ

ଶସ௑ି௑మ
   

                                      24x – x2 = 108 
  x2 - 24x –108 = 0 

                                     x2 - 18x – 6x –108 = 0 
                                     x(x-18) -6(x-18) = 0 
                                     (x-18) (x-6) = 0 
    x-18 = 0 or x-6 = 0 
    x = 18cm or 6cm. 
    18 cm     
   6cm . 

26. 




                                                                  
A. 





      




 
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